Ver. 2.0

Ver.

2.0

1999 10

6




/ Ver. 2.0

2 PSPPSR
2.2. 000 e
2 PSPPSR

PP
3.1. (KXSXX, KXMXX, KXUTC ) iiiiiieeiiiiiee et ssieee e sireee e
3.2. [0 0 T
3.3. (024250 T
3.4. (KXTB ,KXOB ,KXCB) . outveeeeiiieie e eiiiee e e eitee e eitee e
3.5. (KXPXX 3 KXDXX) tvvvvtuuunnnnunnnnnnnnnnnnnnnnnnnnnnnnnsnsssnsnsnsnsnsnsnnnsnnnsssnsnsnsnnnnns
3.6. (KXCHK, KXST,CTRLAGET ) toeieieiiiiieeiiiiiee e etiee e ettt e e et e e st e e et e e atre e e

KK e
4.1 ( ) s
4.2. PSPPSR
KX-G7100/7101



/ Ver. 2.0

1.
7100
7100
KX-G7100/7101
2.
7100 RS232C
2.1.
( )
X
<CTRL>+KXORB)
DT ” YH ”

N” ” YH

"Now transferring. Do you want to abort the current communication? <y/n>"

DT <CTRL> Q

<CTRL>+KXORB

CTRL+Q



/ Ver. 2.0

DTE
” ” X DT ”
X CR
DTE
X KX-G7100/7101
2.2.7100
KX "CR/LF" ( 0d0ah) (DTE)
2.3.
5.
3. KX
KX 7100
KX
3.1. (KXSxx, KXMxx, KXUTC )
RS232C DTE
3.2. (KXAxx)
KXB KXB
3.3. (KXBxx)
KXA
KXA



/ Ver. 2.0

3.4. (KX1B,KX0B,KXCB)
3.5. (KXPxx, KXDxx)
1/0
3.6. (KXCHK,KXST,CTRL+GET )
ROM
4, KX
4.1. ( )
II$II
180
<CR> <CR> <LF>

<CR> 0Dh, <LF> 0Ah

< > ACK(KXS06) (KXS05)

"$KXS06=1<CR><LF>KXA05=0,1,2,3<CR><LF>"

4.2. DTE
DTE

AK AX MO AR 1B * cCtrl

> DTE



Ver. 2.0

(

-KXS03)

DTE

NKAXNONRMNB

Serial No.: xxxxx
4——*”“’Zﬂﬂ”‘———”

KXS03=2<CR><LF>
KXS03=2<CR><LF>
4/”’////i//////’/
-§__§§§§_9§§§§§§§~}

DTE




/ Ver. 2.0

DTE KX (ACK NACK)
<ACK >

DTE "KXA05=0,1,2,3,4<CR><LF>"
DTE

KXA05=0,1,2,3,4<CR><LF>

<NACK >
DTE DTE
ERRO
( ib_queue_size 4096
ERR1
5000
ib_queue_size 5000
)
ERR2




